Q.P. Code : 11486
[Time: Three Hours]

Please check whether you have got the right question paper.
N.B: 1. Attempt ANY FOUR questions.
2. Figures to the right indicate full marks.

Q.1 Explain the following:
a. Voting rules.
b. Arrow Impossibility Theorem.

Q.2 Discuss the following:-
a. Lindahl’s voluntary exchange model of taxation.
b. Welfare foundations of social cost-benefit analysis.

Q.3 Examine the following:-
a. Excess burden of a tax in a partial equilibrium framework.
b.Ramsey pricing.

Q.4 Analyze the following:
a. Incorporation of the government budget constrain in the traditional IS-LM model.
b. Relationship between tax, inflation and interest rates.

Q.5 Elaborate the following:
a. Macro economic effects of fiscal deficits.
b.Sargeant-Wallace hypothesis.

Q.6 Explain the following:
a. Decentralization theorem.
b. Flypaper effect.

Q.7 Write notes on (ANY TWO):
a. Social welfare functions.
b.Wagner’s law.
c. Harberger’s model of incidence of corporation tax.
d. Ricardian equivalence.
e. Federal system in India.

[Marks: 100]
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